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Complete this table showing quantities of an inverse proportionality relationship by
filling in the gaps with the correct values as shown in example a).
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Complete this table showing quantities of an inverse proportionality relationship by
filling in the gaps with the correct values as shown in example a).
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b) . .
cm? mm?
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Complete this table showing quantities of an inverse proportionality relationship by
filling in the gaps with the correct values as shown in example a).
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Complete this table showing quantities of an inverse proportionality relationship by
filling in the gaps with the correct values as shown in example a).
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Good Luck!
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